[image: image1.png]~ 2. Calculate the standard matrix for each of the following linear trans-
g formations 7'.

a.

b.

T:R? — R? given by rotating —r/4 counterclockwise about
the origin and then reflecting across the line x; — x, = 0
T:R? — R® given by rotating 7,/ 2 counterclockwise about the
xj-axis (as viewed from the positive side) and then reflecting
across the plane x, = 0

T:R3 — R3 given by rotating —r/2 counterclockwise about
the x,-axis (as viewed from the positive side) and then rotating
/2 about the x3-axis




(The material is from Linear Transformations. Please explain each step of your solution. Thank you.)

